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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Define Macro Economics. Explain the importance and 

limitations of macro economics. 

lef”V vFkZ’kkL= dh ifjHkk”kk nhft,A lef”V vFkZ’kkL= ds 

egRo vkSj lhekvksa ds ckjs esa crkb,A 

2. Define national income. What are the difficulties in the 

measurement of national income ? 

jk”Vªh; vk; dh ifjHkk”kk nhft,A jk”Vªh; vk; dks ekius esa 

dkSu&dkSu lh dfBukb;k¡ vkrh gSa \ 

3. Explain the meaning, types and causes of Inflation. 

eqnzk LQhfr ds vFkZ] izdkj vkSj dkj.kksa dks le>kb;sA 

4. Describe the modern theory of business cycle based on 

multiplier accelerator interaction. 

xq.kd Rojd dh ijLij fØ;k ij vk/kkfjr O;kikj pØ ds 

vk/kqfud fl)kUr dh O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Macro Statics ? 

lef”V LFkSfrdh D;k gS \ 
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2. Discuss the income method of national income 

measurement. 

jk”Vªh; vk; dks ekius dh vk; fof/k dh foospuk dhft,A 

3. Define Aggregate Demand function and Aggregate 

Supply function. 

lexz ek¡x Qyu vkSj lexz iwfrZ Qyu dks ifjHkkf”kr 

dhft,A 

4. Write a short note on Multiplier, Consumption and 

Saving. 

xq.kd] miHkksx vkSj cpr ij ,d laf{kIr fVIi.kh fyf[k,A 

5. Explain the all functions of money. 

eqnzk ds lHkh dk;ks± dk mYys[k dhft,A 

6. What do you understand by Phillips Curve ? 

fQfyIl oØ ls vki D;k le>rs gSa \ 

7. Discuss the Fiscal Policy in reference of developing 

countries. 

fodkl’khy ns’kksa ds lanHkZ esa jktdks”kh; uhfr dh foospuk 

dhft,A 

8. Write the meaning and characteristics of Trade Cycle. 

O;kikj pØ dk vFkZ vkSj fo’ks”krk,¡ fyf[k,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. Macro Economics distinguishes between the Real 

economy and : 

(a) Virtual economy 

(b) Monetary economy 

(c) Normative economy 

(d) Underground economy 

lef”V vFkZ’kkL= okLrfod vFkZO;oLFkk vkSj fdlds chp 

vUrj djrk gS \ 

¼v½ vkHkklh vFkZO;oLFkk 

¼c½ ekSfnzd vFkZO;oLFkk 

¼l½ vkn’kkZRed vFkZO;oLFkk 

¼n½ izPNUu vFkZO;oLFkk 

2. Social Accounting method was propounded by : 

(a) Fisher 

(b) Marshall 

(c) Pigou 

(d) Richard Stone 

lkekftd ys[kkfof/k dk izfriknu fd;k Fkk % 

¼v½ fQ’kj us 
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¼c½ ek’kZy us 

¼l½ ihxw uss 

¼n½ fjpMZ LVksu us 

3. Who said that, “Supply creates its own demand that” ? 

(a) Adam Smith 

(b) Malthus 

(c) J. B. Say 

(d) Ricardo 

fdlus dgk] ßiwfrZ viuh ek¡x dk l`tu Lo;a djrh gSÞ \ 

¼v½ ,Me fLeFk 

¼c½ ekYFkl 

¼l½ ts- ch- ls 

¼n½ fjdkMksZ 

4. Life cycle hypothesis was propounded by : 

(a) James Dusenberry 

(b) Simon Kuznets 

(c) Milton Friedman 

(d) Ando and Modigliani 

thou pØ ifjdYiuk ds izfriknd gSa % 

¼v½ tsEl M~;wlsucjh 

¼c½ lkbeu dqtusV~l 

¼l½ feYVu ÝhMeSu 

¼n½ ,.Mks rFkk eksfnfXy;kuh 
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5. Foreign trade multiplier is concerned with : 

(a) Open economy 

(b) Closed economy 

(c) Both of the above 

(d) None of the above 

fons’kh O;kikj xq.kd dk lEcU/k gS % 

¼v½ [kqyh vFkZO;oLFkk ls 

¼c½ cUn vFkZO;oLFkk ls 

¼l½ mi;qZDr nksuksa ls 

¼n½ mi;qZDr esa ls dksbZ ugha 

6. According to the Loanable Fund Theory, the rate of 

interest is a function of : 

(a) Investment 

(b) Quantity of Money 

(c) Desire to hold money 

(d) All of the above 

_.k;ksX; dks”k fl)kUr ds vuqlkj] C;kt dh nj dk;Z gS % 

¼v½ fuos’k dk 

¼c½ eqnzk dh ek=k dk 

¼l½ eqnzk tek djus dh bPNk dk 

¼n½ mi;qZDr lHkh 

7. On which of the following does the slope of LM curve 

depend ? 

(a) Interest elasticity of investment 
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(b) Interest elasticity of income 

(c) Interest elasticity of demand for money 

(d) None of the above 

LM oØ dk <ky fuEufyf[kr esa ls fdl ij fuHkZj djrk  

gS \ 

¼v½ fuos’k dh C;kt yksp 

¼c½ vk; dh C;kt yksp 

¼l½ eqnzk dh ek¡x dh C;kt yksp 

¼n½ mi;qZDr esa ls dksbZ ugha 

8. According to Keynesian, creeping inflation will help 

in : 

(a) Minimizing unemployment 

(b) Maximizing real output 

(c) None of (a) or (b) above 

(d) Both (a) and (b) above 

dhUlokfn;ksa ds vuqlkj] jsaxrh gqbZ eqnzkLQhfr fdlesa lgk;d 

gksxh \ 

¼v½ csjkstxkjh dks de djus esa 

¼c½ okLrfod mRiknu dks c<+kus esa 

¼l½ mi;qZDr ¼v½ vFkok ¼c½ esa ls dksbZ ugha 

¼n½ mi;qZDr ¼v½ rFkk ¼c½ nksuksa  

9. Interaction between the multiplier and accelerator 

principle is related with : 

(a) Hensen 
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(b) Samuelson 

(c) Hicks 

(d) Kaldor 

xq.kd&Rojd ds chp var%fØ;k dk fl)kUr fdlls lEcfU/kr 

gS \ 

¼v½ gsalu 

¼c½ lSE;qvYlu 

¼l½ fgDl 

¼n½ dkYMksj 

10. Whose model of the following economists makes use 

of the stock adjustment principle to explain business 

cycles ? 

(a) Hicks 

(b) Hensen 

(c) Kaldor 

(d) Samuelson 

O;kikj pØksa dh O;k[;k djus ds fy, fuEufyf[kr esa ls 

fdl vFkZ’kkL=h us LVkWd lek;kstu fl)kUr dk mi;ksx 

fd;k gS \ 

¼v½ fgDl 

¼c½ gsalu 

¼l½ dkYMksj 

¼n½ lSE;qvYlu 
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